Agenda Item is over 50 pages; may be viewed in the Minutes Department

#### Agenda Item #: 3 - C - 3

# PALM BEACH COUNTY BOARD OF COUNTY COMMISSIONERS AGENDA ITEM SUMMARY

Meeting Date: October	-	X} Consent  Workshop	{	jular Dic Hearing
	Engineering 8	• & Public Works Services Divisio		
	=======			======
	I. EXECU	JTIVE BRIEF		•
Motion and Title: Staff r the total value of \$8,543,00 & Minor Construction Contra Inc. (Contractor), the lowes	10 for task orde: act (Contract), I	rs which may be i Project No. 20090	ssued for the Ar 153, with Charles	nual Pathway
<b>SUMMARY:</b> Approval of the pathways, construction of proconcrete works and other Departments on an as nee Project is 15%. The SBE 21.6% overall.	parking areas, s r minor constr ded basis. The	speed humps, tra fuction projects e Small Business	ffic separators, required by va Enterprise (SBE	miscellaneous rious County ) goal for the
Countywide (MRE)				
<b>Background and Justifi</b> Commissioners (Board) on a of extension for up to 36 m	July 29, 2008. <sup>-</sup>	This <b>C</b> ontract is fo	or one year with	the possibility
Attachments: 1. Contracts 2. Contract Pages C-1 and G 3. SBE Compliance Review 4. Bid Tabulation	C-2			
=======================================	=======	========	=======	======
Recommended by:	Charles Division Director	Rich	9 /8 / ( Date	8 My
Approved By:	County Engineer	<u>J</u>	9   29   Date	08

### II. FISCAL IMPACT ANALYSIS

## A. Five Year Summary of Fiscal Impact:

Fiscal Years Capital Expenditures Operating Costs External Revenues Program Income (County) In-Kind Match (County) NET FISCAL IMPACT	2009 -O- -0- -0- -0- -0- -K	2010 -0- -0- -0- -0- -0- -0-	2011 -0- -0- -0- -0- -0-	2012 -0- -0- -0- -0- -0-	2013 -0- -0- -0- -0- -0- -0-
# ADDITIONAL FTE POSITIONS (Cumulative)				·	
Is Item Included in Current B Budget Acct No.: Fund	udget? Dept	Yes Unit Ob	 Dject	No	

## B. Recommended Sources of Funds/Summary of Fiscal Impact:

*	Road and Bridge	\$ 500,000
	Streetscape	\$ 120,000
	Water Utilities	\$2,000,000
	Parks and Recreation	\$4,070,000
	Traffic	\$1,500,000
	Airports	\$ 250,000
	Environmental Resources Management	\$ 100,000
	Cooperative Extension Service	\$ 3,000
	Potential Fiscal Impact	\$8,543,000

**Program** 

Allocations to the various departments are a not to exceed amount and can be expended from various accounting lines for various projects where budget is available.

C.	Departmental Fiscal Review:	. Oluga	

### III. REVIEW COMMENTS

A.	OFMB Fiscal and/or Contract Dev. and Co k work will be perform on a task	ntrol Comments;
<del></del>	OFMB 10.2-08 CN9/30/08	Contract Dev. and Control  E. Sere 10/3/08
В.	Approved as to Form	This Contract complies with our contract review requirements.

and Legal Sufficiency:

Assistant County Attorney

C. Other Department Review:

**Department Director** 

This summary is not to be used as a basis for payment.

1:\WP\AgendaPage2\Agnpgtwo2009\.annualagreement1

#### **CONTRACT**

STATE OF FLORIDA )

**COUNTY OF PALM BEACH)** 

) SS

added expense for supervision.

This Contract, made this day of A.D. 20, by and between PALM BEACH COUNTY, a Political Subdivision of the State of Florida, (hereinafter called the County), and CHARLES S. WHITESIDE, INC. of WEST PALM BEACH, FL and (his) (its) (their) heirs, successors, executors, administrators and assigns, (hereinafter called the Contractor):
WITNESSETH: The Contractor agrees with the County, for the consideration herein mentioned at his, its or their own proper cost and expense to do all the work and furnish all necessary labor, materials, equipment, machinery, tools, apparatus, services, state workmen's compensation and unemployment compensation taxes incurred in the performance of the contract, for the:
ANNUAL PATHWAY & MINOR CONSTRUCTION CONTRACT, PALM BEACH COUNTY PROJECT NO. 2009053
IN THE AMOUNTS specified in task orders which may be issued by the County under Section #23 and the other terms of the Contract Documents. The County is not required to issue any task orders hereunder. The maximum value of orders issued under this Contract shall not, in any case, exceed EIGHT MILLION FIVE HUNDRED FORTY-THREE THOUSAND DOLLARS (\$8,543,000) (except as may be increased according to Section 37 of the Contract Specifications). The Contract Documents relative hereto are made a part of this agreement as completely as if set forth herein to the satisfaction of the County or its duly authorized representative.
The Contractor further agrees for the consideration herein mentioned to commence the work with adequate forces and equipment within <u>seventy-two (72) hours</u> of the task order being issued for a specific project. After commencement of the work, the task order shall be properly dispatched toward completion, to the satisfaction of the Engineer, and shall be fully complete within the time limit specified in the task order. Should the time limit for completion of the task order exceed the expiration date of the contract, the task order work will continue to completion and the Contractor shall ensure that Bonding and Insurance coverage do not expire until all task orders issued prior to the expiration of this Contract are complete and accepted. It is understood and agreed that the time limit for completion of said work is the essence of the contract and should the Contractor fail to complete the work within the time limit, it is agreed that for such calendar day that any work provided for in these Contract Documents shall remain incomplete after the time limit has expired, including any official extension of the time limit; the sum per day given in the contained schedules

shall be deducted from monies due the Contractor, not as a penalty, but as liquidated damages and

The Contractor shall take into account all contingent work which has to be done by other parties arising from any cause whatsoever, and shall not plead his want of knowledge of such contingent

work as an excuse for delay in his work, or for its non-performance.

	sed this Contract to be executed and sealed the da
and year first written above.	
ATTEST:	
SHARON R. BOCK, Clerk and Comptroller	PALM BEACH COUNTY, a Political Subdivision of the State of Florida BOARD OF COUNTY COMMISSIONERS
By: Deputy Clerk	By:Addie L. Greene, Chairperson
APPROVED AS TO FORM AND LEGAL SUFFICIENCY	APPROVED AS TO TERMS AND CONDITIONS
COUNTY ATTORNEY	Charle Rich ENGINEERING
ATTEST	CHARLES S. WHITESIDE, INC.
Eother L. Collins	(Corporate Name)
	a <u>FLORIDA</u> corporation (Insert state of corporation)
ASSISTANT SECRETARY	By: Minall
TITLE	(Signature)
(CORPORATE SEAL)	(Print signatory's name)
	It's PRESIDENT (Print title)

FROM : OSBA

FAX NO. :5616166850

Aug. 25 2008 02:20PM P1



Office of Small Business Assist mec

50 South Military Trail, St. to 209

West Palm Beach, F1.3 115

(561) 616-6840

FAX: (561) 616-685

www.phogov.com/os 1

nim Benck County Board of County Commissioner

Addic L. Greene, Chairp :son

Jeff Koons, Vice Cha

Karen T. Marcus

Robert J. Kanjian

Mary McCarty

Hurt Aaronson

Jose F. Santamaria

County Administrate .

Robert Weisman, P.E

"An Equal Opportuni Affirmative Action Emple er" DATE:

August 25, 2008

TO:

Mark A. Sinkhorn, P.E.

Engineering Services Division

THROUGH:

Allen Gray, Manager

Office of Small Business

FROM:

Tanoy Williams, Compliance Specialist Il

SUBJECT:

Compliance Review on Project No. 2009053

Annual Pathway & Minor Construction Contract

The following is a Compliance Review of SBE participation on the above-mentioned project.

Sole Bidder:

Charles S. Whiteside, Inc.

Phone:

Bid Opening:

561-471-7696 July 29, 2008

Bid Amount:

\$5,394,952.50

15% Overall

Goal: Goal Achieved:

(BL)

(WB)

21.60

SBE Participation:

Odum's Sod

\$32,377.00

0.60%

Pathway Enterprises

\$1,133,400.00 \$1,165,777.00

21.00% 21.60%

2nd Low Bidder:

Florida Blacktop, Inc.

Phone: Bid Amount:

954-943-9700 \$5,507,600.00

Goal:

15%

Goal Achieved:

11.21%

SBE Participation:

Pathway Enterprises

0.00

0.00%

BI.) Odum's Sod

\$61,788.00 \$61,788.00

11.21% 11.21%

Page 1 of 2

Project #2009053

FROM : OSBA

FAX NO. :5616166850

Aug. 25 2008 02:20PM P2



3<sup>rd</sup> Low Bidder:

Homestead Concrete & Drainage, Inc.

Phone:

305-248-9649

Bid Amount:

\$7,777,209.75

Goal:

15%

Goal Achieved:

58.65

## SBE Participation:

(SB) Centerline Utilities

\$ 708,310.00

-\$584,520.00 (Contingency items) \$ 123,790.00 1.59%

(AB)E& N Construction

\$4,437,800.00 <u>\$0.00</u>

57.06%

(SB) <sup>2</sup>Mark Tomberg

\$4,561,590.00

0.00% 58.65%

#### EVALUATION

The Low Bidder, Charles S. Whiteside, Inc., has met the SBE requirement for this project.

C: Tammy Fields, Assistant County Attorney File

<sup>1</sup> Pathway Enterprises did not include a Schedule 2 so SBE utilization

was not calculated.

The Schedule 2 for Mark Tomberg Irrigation & Landscape, Inc. was not signed and included items for which the company was not SBE cortified for so SBE utilization was not calculated.

PROJECT NUMBER: 2009053

**BID OPENING DATE: JULY 29, 2008 CONTRACT DAYS: 364 CALENDAR DAYS** 

CO	NTRACT DAYS: 364 CALENDAR DAYS			CHARLES S. W	HITESIDE, INC.	FLORIDA BL	ACKTOP, INC.		D CONCRETE & AGE, INC.	
	ITEM	QTY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	AVERAGE UNIT PRICE
	ALL ITEM PRICES COUNTYWIDE UNLESS INDICATED	400	4.0	4405.00	440 000 00	1770 00		TOC 00	** *** ***	
	CLEARING & GRUBBING	100	AC	\$125.00	\$12,500.00	\$750.00	\$75,000.00		\$1,153,600.00	\$4,137.00
2	STUMP REMOVAL	100	EA	\$150.00	\$15,000.00	\$200.00	\$20,000.00	\$336.00	\$33,600.00	\$228.67
3	TREE REMOVAL	200	EA	\$100.00	\$20,000.00	\$150.00	\$30,000.00	\$280.00	\$56,000.00	\$176.67
4	TREE RELOCATION	100	EA	\$75.00	\$7,500.00	\$150.00	\$15,000.00	\$112.00	\$11,200.00	\$112.33
5	MAIL BOXES (RESET)	900	EA	\$5.00	\$4,500.00	\$15.00	\$13,500.00	\$84.00	\$75,600.00	\$34.67
6	REMOVE EXISTING ASPHALT (FULL DEPTH) REMOVE EXISTING ASPHALT, 1½" OR LESS (MILLING) (SEE	8,000	SY	\$2.00	\$16,000.00	\$3.00	\$24,000.00	\$3.36	\$26,880.00	\$2.79
7	NOTES)	4,000	SY	\$4.00	\$16,000.00	\$4.00	\$16,000.00	\$3.36	\$13,440.00	\$3.79
8	EXCAVATION	2,000	CY	\$9.50	\$19,000.00	\$8.00	\$16,000.00	\$8.20	\$16,400.00	\$8.57
9	EMBANKMENT	5,000	CY	\$9.50	\$47,500.00	\$9.00	\$45,000.00	\$11.20	\$56,000.00	\$9.90
10	12" TYPE C STABILIZATION	5,000	SY	\$2.00	\$10,000.00	\$3.00	\$15,000.00	\$13.16	\$65,800.00	\$6.05
11	4" BASE (INCL. PRIME COAT)	48,000	SY	\$12.00	\$576,000.00	\$8.00	\$384,000.00	\$10.14	\$486,720.00	\$10.05
12	6" BASE (INCL. PRIME COAT)	3,000	SY	\$12.50	\$37,500.00	\$12.00	\$36,000.00	\$10.53	\$31,590.00	\$11.68
13	8" BASE (INCL. PRIME COAT)	3,300	SY	\$13.00	\$42,900.00	\$15.00	\$49,500.00	\$12.66	\$41,778.00	<b>\$13.55</b>
14	12" BASE (INCL. PRIME COAT)	3,300	SY	\$13.50	\$44,550.00	\$16.50	\$54,450.00	\$15.12	\$49,896.00	\$15.04
15	FINISH EXISTING ROCK BASE (INCL. PRIME COAT)	7,800	SY	\$3.00	\$23,400.00	\$3.00	\$23,400.00	\$4.59	\$35,802.00	\$3.53
16	ACSC TYPE S-1 (1 1/4")	35,000		\$6.00	\$210,000.00	\$8.75	\$306,250.00	\$9.18	\$321,300.00	\$7.98
17	ACSC TYPE S-1 (2")	35,000	SY	\$9.00	\$315,000.00	\$14.00	\$490,000.00	\$14.28	\$499,800.00	<b>\$12.43</b>
18	ACSC TYPE S (<20 TONS ORDERS)	500	TN	\$200.00	\$100,000.00	\$200.00	\$100,000.00	\$224.00	\$112,000.00	\$208.00
19	ACSC TYPE S (20-50 TON ORDERS)	1,500	TN	\$150.00	\$225,000.00	\$150.00	\$225,000.00	\$224.00	\$336,000.00	<b>\$174.67</b>
20	ACSC TYPE S (51-100 TON ORDERS)	2,000	TN	\$150.00	\$300,000.00	\$130.00	\$260,000.00	\$218.40	\$436,800.00	<b>\$166.13</b>
21	ACSC TYPE S (>100 TON ORDERS)	1,800	TN	\$150.00	\$270,000.00	\$130.00	\$234,000.00	\$218.40	\$393,120.00	<b>\$166.13</b>
22	ACSC TYPE S-III (1 1/4") (INCL. TACK COAT)	47,000		\$9.50	\$446,500.00	\$8.75	\$411,250.00	\$12.15	\$571,050.00	\$10.13
23	ASPHALT DRIVEWAY (1 1/2") (INCL. 6" BASE)	475	SY	\$30.00	\$14,250.00	\$20.00	\$9,500.00	\$39.20	\$18,620.00	\$29.73
24	SPEED HUMPS	530	SY	\$40.00	\$21,200.00	\$50.00	\$26,500.00	\$308.00	\$163,240.00	<b>\$132.67</b>
25	4" CONCRETE PATHWAY - 50 SY OR GREATER	18,000		\$41.00	\$738,000.00	\$38.00	\$684,000.00	\$25.80	\$464,400.00	\$34.93
26	6" CONCRETE PATHWAY (OR DRIVEWAY) - 35 SY OR GREATER	1,900	SY	\$60.00	\$114,000.00	\$50.00	\$95,000.00	\$25.80	\$49,020.00	\$45.27
	CAST CONCRETE TRUNCATED DOMES	900	SF	\$10.00	\$9,000.00	\$30.00	\$27,000.00	\$39.20	\$35,280.00	\$26.40
28	CAST-IN-PLACE AND/OR SURFACE APPLIED TACTILE SURFACE	900	SF	\$25.00	\$22,500.00	\$35.00	\$31,500.00	\$39.20	\$35,280.00	\$33.07
29	4" CONCRETE REMOVAL	9,000	SY	\$13.00	\$117,000.00	\$14.00	\$126,000.00	\$1.01	\$9,090.00	\$9.34
30	6" CONCRETE REMOVAL	1,400	SY	\$20.00	\$28,000.00	\$20.00	\$28,000.00	\$1.01	\$1,414.00	\$13.67

<sup>\*</sup>DENOTES CORRECTED FIGURE

BIDS RECEIVED BY: MARK A. SINKHORN, P.E.

PROJECT NUMBER: 2009053

BID OPENING DATE: JULY 29, 2008 CONTRACT DAYS: 364 CALENDAR DAYS

CONTRACT DAYS: 364 CALENDAR DAYS			CHARLES S. WHITESIDE, INC.		FLORIDA BLACKTOP, INC.		HOMESTEAD CONCRETE & DRAINAGE, INC.		AVERAGE	
<b>ITEM</b>	QTY	UNITS	<b>UNIT PRICE</b>	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	
ALL ITEM PRICES COUNTYWIDE UNLESS INDICATED	_								*	
31 MISC. ASPHALT (<50 TON ORDERS) (INCL. TACK COAT) (SEE										
NOTES)	1,750	TN	\$115.00	\$201,250.00	\$125.00	\$218,750.00	\$224.00	\$392,000.00	<b>\$154.67</b>	
32 MISC. ASPHALT (51-200 TON ORDERS) (INCL. TACK COAT)										
(SEE NOTES)	1,750	TN	\$115.00	\$201,250.00	\$125.00	\$218,750.00	\$218.00	\$381,500.00	<b>\$152.67</b>	
33 MISC. ASPHALT (>200 TON ORDERS) (INCL. TACK COAT) (SEE										
NOTES)	1,750	TN	\$115.00	\$201,250.00	\$125.00	\$218,750.00	\$218.00	\$381,500.00	\$152.67	
34 CONCRETE TRAFFIC SEPARATOR TYPE IV	460	SY	\$70.00	\$32,200.00	\$70.00	\$32,200.00	\$33.77	\$15,534.20	\$57.92	
35 CONCRETE TRAFFIC SEPARATOR REMOVAL .	1,330	SY	\$10.00	\$13,300.00	\$20.00	\$26,600.00	\$10.08	\$13,406.40	\$13.36	
36 CONCRETE CURB TYPE "D" (SEE NOTES)	17,500	LF	\$15.00	\$262,500.00	\$13.00	\$227,500.00	\$9.86	\$172,550.00	\$12.62	
37 CONCRETE CURB TYPE "D" REMOVAL	1,745	LF	\$2.00	\$3,490.00	\$4.00	\$6,980.00	\$5.60	\$9,772.00	\$3.87	
38 CONCRETE CURB & GUTTER TYPE "E"	480	LF	\$13.00	\$6,240.00	\$15.00	\$7,200.00	\$12.41	\$5,956.80	\$13.47	
39 CONCRETE CURB & GUTTER TYPE "E" REMOVAL	525	LF	\$4.00	\$2,100.00	\$4.00	\$2,100.00	\$5.32	\$2,793.00	\$4.44	
40 CONCRETE CURB & GUTTER TYPE "F"	7,800	LF	\$15.00	\$117,000.00	\$15.00	\$117,000.00	\$12.41	\$96,798.00	\$14.14	
41 CONCRETE CURB & GUTTER TYPE "F" REMOVAL	4,500	LF CY	\$2.00	\$9,000.00	\$4.50	\$20,250.00	\$5.32	\$23,940.00	\$3.94	
42 CONCRETE GRAVITY WALL	400	CY	\$235.00	\$94,000.00	\$300.00	\$120,000.00	\$392.00	\$156,800.00	\$309.00	
43 CONCRETE DRIVEWAY CURB (PBC STANDARD)	650	LF	\$15.00	\$9,750.00	\$15.00	\$9,750.00	\$12.04	\$7,826.00	\$14.01	
44 CONCRETE DRIVEWAY CURB REMOVAL	460	LF	\$5.00	\$2,300.00	\$4.00	\$1,840.00	\$5.32	\$2,447.20	\$4.77	
45 STEEL RETICULINE FRAME & GRATE (INSTALLED)	45	EA	\$1,000.00	\$45,000.00	\$1,000.00	\$45,000.00	\$1,680.00	\$75,600.00	\$1,226.67	
46 4" PVC PIPE (SCHEDULE 40)	165	LF	\$18.00	\$2,970.00	\$18.00	\$2,970.00	\$6.83	\$1,126.95	\$14.28	
47 6" PVC PIPE (SCHEDULE 40)	165	LF	\$20.00	\$3,300.00	\$22.00	\$3,630.00	\$10.07	\$1,661.55	\$17.36	
48 10" PVC PIPE (SCHEDULE 40)	170	LF .	\$30.00	\$5,100.00	\$25.00	\$4,250.00	\$17.36	\$2,951.20	\$24.12	
49 15" RCP	170	LF	\$50.00	\$8,500.00	\$45.00	\$7,650.00	\$34.72	\$5,902.40	\$43.24	
50 18" RCP	170	LF	\$55.00	\$9,350.00	\$50.00	\$8,500.00	\$40.32	\$6,854.40	\$48.44	
51 24" RCP	170	LF · -	\$60.00	\$10,200.00	\$60.00	\$10,200.00	\$48.16	\$8,187.20	\$56.05	
52 15" BCCMP	170	LF . =	\$50.00	\$8,500.00	\$45.00	\$7,650.00	\$34.72	\$5,902.40	\$43.24	
53 18" BCCMP	170	LF	\$55.00	\$9,350.00	\$50.00	\$8,500.00	\$40.32	\$6,854.40	\$48.44	
54 24" BCCMP	170	LF	\$60.00	\$10,200.00	\$60.00	\$10,200.00	\$48.16	\$8,187.20	<b>\$56.05</b>	
55 GUARDRAIL	40	LF	\$50.00	\$2,000.00	\$55.00	\$2,200.00	\$25.76	\$1,030.40	\$43.59	
56 GUARDRAIL END ANCHORAGE ASSEMBLY TYPE MELT					4=					
(COMPLETE)	10	EA	\$1,500.00	\$15,000.00	\$2,500.00	\$25,000.00	\$2,464.00	\$24,640.00	\$2,154.67	
57 GUARDRAIL END ANCHORAGE ASSEMBLY TYPE ET 2000	10	EA	\$2,100.00	\$21,000.00	\$2,500.00	\$25,000.00	\$2,576.00	\$25,760.00	\$2,392.00	
58 GUARDRAIL END ANCHORAGE ASSEMBLY TYPE SRT-350	10	EA	\$2,000.00	\$20,000.00	\$2,000.00	\$20,000.00	<b>\$2,447.20</b>	\$24,472.00	\$2,149.07	

\*DENOTES CORRECTED FIGURE

BIDS RECEIVED BY: MARK A. SINKHORN, P.E.

PROJECT NUMBER: 2009053

BID OPENING DATE: JULY 29, 2008 CONTRACT DAYS: 364 CALENDAR DAYS

CONTRACT DAYS: 364 CALENDAR DAYS			CHARLES S. W	HITESIDE, INC.	FLORIDA B	LACKTOP, INC.		D CONCRETE & NAGE, INC.	AVERAGE
ITEM	QTY	UNITS	<b>UNIT PRICE</b>	AMOUNT	UNIT PRICE	<b>AMOUNT</b>	UNIT PRICE	AMOUNT	UNIT PRICE
ALL ITEM PRICES COUNTYWIDE UNLESS INDICATED									
59 GUARDRAIL END ANCHORAGE ASSEMBLY TYPE II	20	EA	\$900.00	\$18,000.00	\$950.00	\$19,000.00	\$1,120.00	\$22,400.00	\$990.00
60 GUARDRAIL REMOVAL AND DISPOSAL	1,300	LF	\$5.00	\$6,500.00	\$5.00	\$6,500.00	\$4.20	\$5,460.00	\$4.73
61 RESET GUARDRAIL	1,300	LF	\$5.00	\$6,500.00	\$15.00	\$19,500.00	\$14.81	\$19,253.00	\$11.60
62 6' CHAIN LINK FENCE TYPE B	1,300	LF	\$30.00	\$39,000.00	\$20.00	\$26,000.00	\$24.64	\$32,032.00	\$24.88
63 SODDING (TO MATCH EXISTING) (SEE NOTES)	16,000		\$3.50	\$56,000.00	\$2.00	\$32,000.00	•	\$80,640.00	\$3.51
64 SEEDING AND MULCHING	3,900	SY	\$0.75	\$2,925.00	\$1.00	\$3,900.00	\$0.62	\$2,418.00	\$0.79
65 ADJUST VALVE BOX	225	EA	\$250.00	\$56,250.00	\$250.00	\$56,250.00	\$392.00	\$88,200.00	\$297.33
66 REMOVE & RE-INSTALL WHEEL STOPS	85	EA	\$30.00	\$2,550.00	\$20.00	<b>\$1,700.00</b>	\$72.80	\$6,188.00	\$40.93
67 THERMOPLASTIC PAVEMENT MARKING (ALL WIDTHS &									
COLORS) (SEE NOTES)	100	SF	\$20.00	\$2,000.00	\$15.00	\$1,500.00	<b>\$4.48</b>	<b>\$448.00</b>	<b>\$13.16</b>
68 TRAFFIC PAINT (ALL WIDTHS & COLORS) (SEE NOTES)	100	SF	\$15.00	\$1,500.00	\$12.00	\$1,200.00	\$2.24	\$224.00	<b>\$9.75</b>
69 BIO-BARRIER (12" WIDE) (FURNISHED AND INSTALLED)	100	LF	\$8.00	\$800.00	\$11.00	\$1,100.00	\$9.52	<b>\$952.00</b>	\$9.51
70 BIO-BARRIER (19.5" WIDE) (FURNISHED AND INSTALLED)	1,650	LF	\$8.35	\$13,777.50	\$13.00	\$21,450.00	\$10.64	<b>\$17,556.00</b>	<b>\$10.66</b>
71 STAMPED COLORED CONCRETE (5" THICK)	85	SY	\$80.00	\$6,800.00	\$75.00	\$6,375.00	\$5.21	\$442.85	<b>\$53.40</b>
72 PAVER BRICK	85	SY	\$75.00	\$6,375.00	\$70.00	\$5,950.00	\$4.93	\$419.05	\$49.98
73 REMOVE PAVER BRICK	85	SY	\$20.00	\$1,700.00	\$20.00	\$1,700.00	\$1.85	<b>\$157.25</b>	<b>\$13.95</b>
74 RESET PAVER BRICK	85	SY	\$35.00	\$2,975.00	\$25.00	\$2,125.00	\$1.34	\$113.90	<b>\$20.45</b>
75 TOP SOIL (6" THICK)	320	SY	\$7.50	\$2,400.00	\$6.50	\$2,080.00	\$5.60	\$1,792.00	<b>\$6.53</b>
76 SANDBLASTING - 1/2 DAY	20	EA	\$500.00	\$10,000.00	\$500.00	\$10,000.00	\$952.00	\$19,040.00	\$650.67
77 SANDBLASTING - FULL DAY	10	EA	\$1,000.00	\$10,000.00	\$1,000.00	\$10,000.00	\$1,680.00	\$16,800.00	\$1,226.67
TOTAL BASE BID	*****	****	******	\$5,394,952.50	******	\$5,507,600.00	* ******	\$7,777,209.75 *	*****
CONTINGENCY ITEMS		*							
78 EMERGENCY RESPONSE, LESS THAN 6 HOURS	4	EA	\$2,500.00	\$10,000.00	\$2,400.00	\$9,600.00	\$6,000.00	\$24,000.00	\$3,633.33
79 EMERGENCY RESPONSE, 6 HOURS TO 24 HOURS	8	EA	\$1,500.00	\$12,000.00	\$1,500.00	• •	\$5,000.00	\$40,000.00	\$2,666.67
80 EMERGENCY RESPONSE, 24 HOURS TO 72 HOURS	12	EA	\$1,200.00	•	\$1,000.00		\$4,000.00	\$48,000.00	\$2,066.67
81 VEGETATION RELOCATION (INCLUDING WATERING)	10	HR	\$175.00	· •	\$150.00	, -	\$89.60	\$896.00	\$138.20
82 4" CONCRETE PATHWAY - LESS THAN 10 SY	100	SY	\$225.00	\$22,500.00	\$200.00	• •	\$65.52	\$6,552.00	\$163.51
83 4" CONCRETE PATHWAY - 10 SY TO LESS THAN 50 SY	100	SY	\$150.00		\$150.00		\$65.52	\$6,552.00	\$121.84
84 6" CONCRETE PATHWAY (OR DRIVEWAY) - LESS THAN 8 SY 85 6" CONCRETE PATHWAY (OR DRIVEWAY) - 8 SY TO LESS	100	SY	\$235.00	\$23,500.00	\$225.00		\$123.20	\$12,320.00	\$194.40
THAN 35 SY	100	SY	\$175.00	\$17,500.00	\$175.00	\$17,500.00	\$123.20	\$12,320.00	\$157.73

\*DENOTES CORRECTED FIGURE

BIDS RECEIVED BY: MARK A. SINKHORN, P.E.

PROJECT NUMBER: 2009053

BID OPENING DATE: JULY 29, 2008 CONTRACT DAYS: 364 CALENDAR DAYS

						,	DRAINA	GE, INC.	
ITEM	QTY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	AVERAGE UNIT PRICE
ALL ITEM PRICES COUNTYWIDE UNLESS INDICATED									
86 PUMPING OR HAND PLACEMENT OF CONCRETE - 1/2 DAY	5	EA	\$900.00	\$4,500.00	\$850.00	\$4,250.00	\$1,680.00	\$8,400.00	\$1,143.33
87 PUMPING OR HAND PLACEMENT OF CONCRETE - 1 DAY	5	EA	\$1,100.00	\$5,500.00	\$1,100.00	\$5,500.00	\$2,240.00	\$11,200.00	\$1,480.00
88 PUMP MIX FOR CONCRETE PUMPING	10	CY	\$50.00	\$500.00	\$100.00	\$1,000.00	\$176.96	\$1,769.60	\$108.99
89 CONCRETE TRAFFIC SEPARATOR TYPE I	100	SY	\$95.00	\$9,500.00	\$85.00	\$8,500.00	\$33.77	\$3,377.00	\$71.26
90 CONCRETE TRAFFIC SEPARATOR TYPE II	100	SY	\$95.00	\$9,500.00	\$85.00	\$8,500.00	\$33.77	\$3,377.00	\$71.26
91 CONCRETE TRAFFIC SEPARATOR TYPE III	100	SY	\$95.00	\$9,500.00	\$85.00	\$8,500.00	\$33.77	\$3,377.00	\$71.26
92 CONCRETE TRAFFIC SEPARATOR TYPE V	100	SY	\$95.00	\$9,500.00	\$85.00	\$8,500.00	\$33.77	\$3,377.00	\$71.26
93 CONCRETE CURB & GUTTER (9") (PBC STANDARD)	50	LF	\$35.00	\$1,750.00	\$35.00	\$1,750.00	\$11.57	\$578.50	\$27.19
94 CONCRETE CURB & GUTTER (9") REMOVAL	50	LF	\$5.00	\$250.00	\$4.00	\$200.00	\$5.32	\$266.00	\$4.77
95 CONCRETE FLUSH HEADER CURB (PBC STANDARD)	100	LF	\$35.00	\$3,500.00	\$35.00	\$3,500.00	\$11.20	\$1,120.00	\$27.07
96 CONCRETE HEADER CURB REMOVAL	200	LF	\$10.00	\$2,000.00	\$4.00	\$800.00	\$5.32	\$1,064.00	\$6. <del>44</del>
97 CONCRETE VALLEY GUTTER REMOVAL	100	LF	\$5.00	\$500.00	\$4.00	\$400.00	\$5.32	\$532.00	\$4.77
98 CONCRETE MOUNTABLE GUTTER (PBC STANDARD)	100	LF	\$35.00	\$3,500.00	\$35.00	\$3,500.00	\$11.31	\$1,131.00	\$27.10
99 CONCRETE MOUNTABLE GUTTER REMOVAL	100	LF	· \$5.00	\$500.00	\$4.00	\$400.00	\$5.32	\$532.00	\$4.77
MODIFY, REPAIR AND/OR REBUILD EXISTING									
STRUCTURE: ITEMS 100-109	****	****	*****	*****	*****	*****	******	*****	*****
100 CURB INLET TYPE 1 (FDOT STANDARD)	2	EA	\$9,500.00	\$19,000.00	\$4,200.00	\$8,400.00	\$8,960.00	\$17,920.00	\$7,553.33
101 CURB INLET TYPE 2 (FDOT STANDARD)	2	EA	\$9,500.00	\$19,000.00	\$4,200.00	\$8,400.00	\$8,960.00	\$17,920.00	\$7,553.33
102 CURB INLET TYPE 3 (FDOT STANDARD)	2	EA	\$8,500.00	\$17,000.00	\$4,200.00	\$8,400.00	\$7,840.00	\$15,680.00	\$6,846.67
103 CURB INLET TYPE 4 (FDOT STANDARD)	2	EA	\$8,700.00	\$17,400.00	\$4,200.00	\$8,400.00	\$7,840.00	\$15,680.00	\$6,913.33
104 CURB INLET TYPE 5 (FDOT STANDARD)	2	EA	\$6,300.00	\$12,600.00	\$4,000.00	\$8,000.00	\$3,696.00	\$7,392.00	\$4,665.33
105 CURB INLET TYPE 6 (FDOT STANDARD)	2	EA	\$6,500.00	\$13,000.00	\$4,000.00	\$8,000.00	\$3,920.00	\$7,840.00	\$4,806.67
106 CURB INLET TYPE 7 (FDOT STANDARD)	2	EA	\$9,500.00	\$19,000.00	\$4,000.00	\$8,000.00	\$7,616.00	\$15,232.00	\$7,038.67
107 CURB INLET TYPE 8 (FDOT STANDARD)	2	EA	\$9,500.00	\$19,000.00	\$4,000.00	\$8,000.00	\$7,616.00	\$15,232.00	\$7,038.67
108 ADJUST EXISTING MANHOLE OR INLET	10	EA	\$2,100.00	\$21,000.00	\$1,500.00	\$15,000.00	\$1,008.00	\$10,080.00	\$1,536.00
109 MODIFY INLET & INSTALL RETICULINE FRAME & GRATE	10	EΑ	\$2,200.00	\$22,000.00	\$1,500.00	\$15,000.00	\$560.00	\$5,600.00	\$1,420.00
REPLACE EXISTING OR CONSTRUCT NEW STRUCTURE:									
ITEMS 110-119	****	****	******	******	******	*****	******	*****	******
110 CATCH BASIN TYPE C (FDOT STANDARD)	6	EA	\$5,200.00	\$31,200.00	\$4,200.00	\$25,200.00	\$2,240.00	\$13,440.00	\$3,880.00
111 CURB INLET TYPE 1 (FDOT STANDARD)	2	EA	\$10,000.00	\$20,000.00	\$5,500.00	\$11,000.00	\$8,960.00	\$17,920.00	\$8,153.33
112 CURB INLET TYPE 2 (FDOT STANDARD)	2	EA	\$10,000.00	\$20,000.00	\$5,000.00	\$10,000.00	* \$8,960.00	\$17,920.00	\$7,986.67
113 CURB INLET TYPE 3 (FDOT STANDARD)	2	EA	\$6,000.00	\$12,000.00	\$5,500.00	\$11,000.00	\$7,840.00	<b>\$15,680.00</b>	\$6,446.67

**CHARLES S. WHITESIDE, INC.** 

**HOMESTEAD CONCRETE &** 

FLORIDA BLACKTOP, INC.

\*DENOTES CORRECTED FIGURE

BIDS RECEIVED BY: MARK A. SINKHORN, P.E.

PROJECT NUMBER: 2009053

BID OPENING DATE: JULY 29, 2008 CONTRACT DAYS: 364 CALENDAR DAYS

		·	CHARLES SI WIII LOLDE, LIVE		I LOIGEA DE	ackior, inc.	DRAINA		
ITEM ALL ITEM PRICES COUNTYWIDE UNLESS INDICATED	QTY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	AVERAGE UNIT PRICE
114 CURB INLET TYPE 4 (FDOT STANDARD)	2	EA	¢6 000 00	¢12.000.00	<b>#E F00 00</b>	£11 000 00	÷7.040.00	. A1E COO OO	AC 446 67
115 CURB INLET TYPE 5 (FDOT STANDARD)	2	EA	\$6,000.00 \$5,800.00	\$12,000.00	\$5,500.00 ¢5.500.00	\$11,000.00	\$7,840.00 \$3,606.00	\$15,680.00	\$6,446.67
· · · · · · · · · · · · · · · · · · ·	2		• •	\$11,600.00	\$5,500.00	\$11,000.00	\$3,696.00	\$7,392.00	\$4,998.67
116 CURB INLET TYPE 6 (FDOT STANDARD)	2	EA	\$5,600.00	\$11,200.00	\$5,000.00	\$10,000.00	• •	\$7,840.00	\$4,840.00
117 CURB INLET TYPE 7 (FDOT STANDARD)	2	EA :	\$10,000.00	\$20,000.00	\$6,000.00	\$12,000.00	\$7,616.00	\$15,232.00	\$7,872.00
118 CURB INLET TYPE 8 (FDOT STANDARD)	2	EA	\$10,000.00	\$20,000.00	\$6,000.00	\$12,000.00	\$7,616.00	\$15,232.00	\$7,872.00
119 MANHOLE TYPE P	5	EA	\$6,500.00	\$32,500.00	\$6,000.00	\$30,000.00		\$36,400.00	\$6,593.33
120 30" RCP	-80	LF	\$100.00	\$8,000.00	\$90.00	\$7,200.00	\$76.16	\$6,092.80	\$88.72
121 36" RCP	80	LF	\$125.00	\$10,000.00	\$100.00	\$8,000.00	\$97. <del>44</del>	<b>\$7,795.20</b>	<b>\$107.48</b>
122 42" RCP	40	LF	\$150.00	\$6,000.00	\$140.00	\$5,600.00	\$123.20	\$4,928.00	<b>\$137.73</b>
123 48" RCP	40	LF	\$175.00	\$7,000.00	\$175.00	\$7,000.00	<b>\$145.60</b>	<b>\$5,824.00</b>	<b>\$165.20</b>
124 15" CONCRETE MITERED END SECTION	2	EA	\$2,100.00	\$4,200.00	\$1,800.00	\$3,600.00	\$1,064.00	\$2,128.00	\$1,654.67
125 18" CONCRETE MITERED END SECTION	· 2	EA	\$2,500.00	\$5,000.00	\$1,800.00	\$3,600.00	\$1,176.00	<b>\$2,352.00</b>	\$1,825.33
126 24" CONCRETE MITERED END SECTION	2	EA	\$2,800.00	\$5,600.00	\$2,000.00	\$4,000.00	<b>\$1,344.00</b>	\$2,688.00	\$2,048.00
127 30" CONCRETE MITERED END SECTION	2	EA	\$3,500.00	<b>\$7,000.00</b>	\$2,500.00	\$5,000.00	\$3,024.00	\$6,048.00	\$3,008.00
128 36" CONCRETE MITERED END SECTION	2	EA	\$4,700.00	\$9,400.00	\$3,000.00	\$6,000.00	\$3,360.00	\$6,720.00	\$3,686.67
129 42" CONCRETE MITERED END SECTION	2	EA	\$5,500.00	\$11,000.00	\$3,500.00	\$7,000.00	\$8,064.00	\$16,128.00	\$5,688.00
130 48" CONCRETE MITERED END SECTION	2	EA	\$6,000.00	\$12,000.00	\$4,000.00	\$8,000.00	\$9,520.00	\$19,040.00	\$6,506.67
131 30" BCCMP	80	LF	\$100.00	\$8,000.00	\$90.00	\$7,200.00	\$76.16	\$6,092.80	\$88.72
132 36" BCCMP	80	LF	\$125.00	\$10,000.00	\$20.00	\$1,600.00	<b>*</b> \$97.44	\$7,795.20	\$80.81
133 42" BCCMP	40	LF	\$150.00	\$6,000.00	\$140.00	\$5,600.00	\$123.20	\$4,928.00	\$137.73
134 48" BCCMP	40	LF	· \$175.00	\$7,000.00	\$160.00	\$6,400.00	\$145.60	\$5,824.00	\$160.20
135 15" BCCMP MITERED END SECTION	2	EA	\$1,850.00	\$3,700.00	\$1,800.00	\$3,600.00	\$812.00	\$1,624.00	\$1,487.33
136 18" BCCMP MITERED END SECTION	2	EA	\$2,200.00	\$4,400.00	\$1,800.00	\$3,600.00	\$980.00	\$1,960.00	\$1,660.00
137 24" BCCMP MITERED END SECTION	2	EA	\$2,500.00	\$5,000.00	\$2,000.00	\$4,000.00	\$1,176.00	\$2,352.00	\$1,892.00
138 30" BCCMP MITERED END SECTION	2	EA	\$3,000.00	\$6,000.00	\$2,500.00	\$5,000.00	\$2,240.00	\$4,480.00	\$2,580.00
139 36" BCCMP MITERED END SECTION	2	EA	\$4,100.00	\$8,200.00	\$3,000.00	\$6,000.00	\$2,464.00	\$4,928.00	\$3,188.00
140 42" BCCMP MITERED END SECTION	2	EA	\$5,300.00	\$10,600.00	\$3,500.00	\$7,000.00	\$5,600.00	\$11,200.00	\$4,800.00
141 48" BCCMP MITERED END SECTION	2	EA	\$5,600.00	\$11,200.00	\$4,000.00	\$8,000.00	\$6,048.00	\$12,096.00	\$5,216.00
142 SAND CEMENT ENDWALL	100	CY	\$650.00	\$65,000.00	\$650.00	\$65,000.00		\$5,152.00	\$450.51
143 MISC. CONCRETE (INCL. REINFORCING STEEL)	250	CY	\$600.00	\$150,000.00	\$700.00	\$175,000.00	-	\$44,800.00	\$493.07
144 FRENCH DRAIN (15" CMP)	80	LF	\$125.00	\$10,000.00	\$100.00	\$8,000.00	\$81.76	\$6,540.80	\$102.25
145 FRENCH DRAIN (18" CMP)	80	LF	\$135.00	\$10,800.00	\$115.00	\$9,200.00	\$86.24	\$6,899.20	\$102.25 \$112.08
210			4200100	7-0/000.00	4115.00	40/200100	ψ00.24	40,033.20	<b>\$112.00</b>

CHARLES S. WHITESIDE, INC.

**HOMESTEAD CONCRETE &** 

FLORIDA BLACKTOP, INC.

\*DENOTES CORRECTED FIGURE

BIDS RECEIVED BY: MARK A. SINKHORN, P.E.

PROJECT NUMBER: 2009053

**BID OPENING DATE: JULY 29, 2008 CONTRACT DAYS: 364 CALENDAR DAYS** 

CONTRACT DAYS: 364 CALENDAR DAYS		CHARLES S. WHITESIDE, INC.			FLORIDA BLACKTOP, INC.		HOMESTEAD CONCRETE & DRAINAGE, INC.		AVERAGE
ITEM	QTY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE
ALL ITEM PRICES COUNTYWIDE UNLESS INDICATED	• .								0.000
146 FRENCH DRAIN (24" CMP)	80	LF	\$150.00	\$12,000.00	\$150.00	\$12,000.00	\$95.20	\$7,616.00	\$131.73
147 RCP FRENCH DRAIN (15" RCP)	80	LF	\$125.00	\$10,000.00	\$100.00	\$8,000.00	\$81.76	\$6,540.80	\$102.25
148 RCP FRENCH DRAIN (18" RCP)	80	LF	\$135.00	\$10,800.00	\$115.00	\$9,200.00	\$86.24	\$6,899.20	\$112.08
149 RCP FRENCH DRAIN (24" RCP)	80	LF	\$150.00	\$12,000.00	\$150.00	\$12,000.00	\$95.20	\$7,616.00	\$131.73
150 POLYDRAIN W/TOP & CONCRETE ENCASEMENT	50	LF	\$400.00	\$20,000.00	\$400.00	\$20,000.00	\$123.20	\$6,160.00	\$307.73
151 YARD DRAIN (INDEX 282)	5	EA	\$3,500.00	\$17,500.00	\$2,500.00	\$12,500.00	\$840.00	\$4,200.00	\$2,280.00
152 SPECIAL GUARDRAIL POST	10	EA	\$975.00	\$9,750.00	\$900.00	\$9,000.00	\$224.00	\$2,240.00	\$699.67
153 ALUMINUM PIPE HANDRAIL (3 RAIL)	150	LF	\$60.00	\$9,000.00	\$70.00	\$10,500.00	\$162.40	\$24,360.00	\$97.47
154 SAFETY PIPE RAIL (2")	125	LF	\$30.00	\$3,750.00	\$60.00	\$7,500.00	<b>\$162.40</b>	\$20,300.00	\$84.13
155 RELOCATE FIRE HYDRANT	1	EA	\$6,500.00	\$6,500.00	\$5,000.00	\$5,000.00	\$2,240.00	\$2,240.00	\$4,580.00
156 PULL BOXES (BROOKS)	2	EA	\$950.00	\$1,900.00	\$900.00	\$1,800.00	\$196.00	<b>\$</b> 392.00	<b>\$682.</b> 00
157 CONCRETE BARRIER WALL	100	LF	\$65.00	\$6,500.00	\$140.00	\$14,000.00	\$184.80	<b>\$18,480.00</b>	<b>\$129.93</b>
158 JACK & BORE IRRIGATION LINES	100	LF	\$125.00	\$12,500.00	\$130.00	\$13,000.00	\$28.00	\$2,800.00	\$94.33
159 INSTALL IRRIGATION LINES (COMPLETE)	200	LF	\$30.00	\$6,000.00	\$35.00	\$7,000.00	\$2.78	\$556.00	\$22.59
160 PROVIDE HOOKUP FOR IRRIGATION SYSTEM	5	EA	\$1,500.00	\$7,500.00	\$1,500.00	\$7,500.00	\$616.00	\$3,080.00	<b>\$1,205.33</b>
161 REPLACE SPRINKLER SYSTEM (COMPLETE)	1,500		\$30.00	\$45,000.00	\$30.00	\$45,000.00	\$3.92	<b>\$5,880.00</b>	\$21.31
162 RUBBLE RIP-RAP	50	TN	\$375.00	\$18,750.00	\$100.00	\$5,000.00	\$84.00	\$4,200.00	<b>\$186.33</b>
163 TEMPORARY OR PERMANENT SHEET PILING	1,000		\$45.00	\$45,000.00	\$75.00	\$75,000.00	\$280.00	\$280,000.00	<b>\$133.33</b>
164 SOUTHERN YELLOW PINE LUMBER	1,000		\$10.00	\$10,000.00	\$100.00	\$100,000.00	\$0.57	\$570.00	\$36.86
165 40 TON CRANE, CRAWLER OR WHEEL MOUNT - DAY	10	EA	\$2,300.00	\$23,000.00	\$100.00	\$1,000.00	\$806.40	\$8,064.00	<b>\$1,068.80</b>
166 3 CY LOADER - DAY	10	EA	\$1,100.00	\$11,000.00	\$600.00	\$6,000.00	\$448.00	\$4,480.00	\$716.00
167 1-1/2 CY BACKHOE - DAY	10	EA	\$1,600.00	\$16,000.00	\$750.00	\$7,500.00	\$224.00	\$2,240.00	\$858.00
PAVEMENT TEXTURING: ITEMS 168-172	****		*****	*****	******	*****	******	******	******
168 IMPRINT NEW INSTALLATION	1,500		\$65.00	\$97,500.00	\$65.00	\$97,500.00	\$8.96	\$13,440.00	<b>\$46.32</b>
169 HEAT & IMPRINT EXISTING PAVEMENT	1,200		\$65.00	\$78,000.00	\$70.00	\$84,000.00	\$13.44	\$16,128.00	\$49.48
170 COLORED COATING - STANDARD FORMULA	2,700		\$35.00	\$94,500.00	\$35.00	\$94,500.00	\$13.44	\$36,288.00	\$27.81
171 COLORED COATING - TRAFFIC FORMULA	2,700		\$45.00	\$121,500.00	\$45.00	\$121,500.00	\$13.44	\$36,288.00	\$34.48
172 SEALER CONCRETE	2,700	SY * ****	\$20.00	\$54,000.00	\$15.00	\$40,500.00	\$5.04	\$13,608.00	\$13.35
TOTAL CONTINGENCY ITEMS	******	\$1,707,700.00	*****	\$1,610,900.00	* ******	\$1,223,135.10	* ******		

<sup>\*</sup>DENOTES CORRECTED FIGURE

BIDS RECEIVED BY: MARK A. SINKHORN, P.E.